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fi(Py) =0.012P2 +26P, +25  $/h, 30MW <P, <160 MW

f3(Py2) =0.003P% +2.3P; +12  $/h, 40MW <P, <130MW
f3(Py3) = 0002P% +2.4P;5 +10  $/h, B0MW < Py3 <190MW

f4(Pys) =0.001P% +21P,, +50  $/h, S8OMW< Py, < 250MW
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Generator 1 : 400 MVA, 20 kV, Xa =0.067 per unit, H=11.2 MJMVA
Generator 2 : 250 MVA, 18 kV, Xa =0.10 perunit, H=8.0 MJMVA
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Series Z ShuntY

Bus to bus R X B
Transformer (D-@) - 0.022

Transformer @)-3) - 0.040

Line 3)-@ 0.007 0.040 0.082
Line ®-® (1) 0.008  0.047 0.098
Line ®-® (2) 0.008  0.047 0.098
Line ®)-G®) 0.018 0.110 0.226

TAIll values in per unit on 230-kV, 100-MVA base.
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Generation Load
Bus Voltage P Q P Q
O] 1.030./8.88° 3.500 0.712
@ 1.020/6.38° 1.850 0.298
® 1.00020° - -
® 1.018.74.68° - - 1.00 0.44
® 1.011.72.27° - - 0.50 0.16

TValues are in per unit on 230-kV, 100-MVA base.



